ﬁ Menu Week & Day 2

Fluency Problem Solving

Comp lete these q_u_estiuns_ A school order 12 boxes of paper.
Each box contains 7 reams of paper.

1.84.7 - (5 x12) = Each ream contains 110 sheets of

paper. How many sheets of paper
does the school order in total?

2 = 4751 x 32
3.855 + 156 =

L3 Reasoning
il-_ — t— = R‘mu[ answWer

12 6

ﬁ. ?2 + 83 - R‘mu[ ONSWER
Which is the odd one out?



m’ Menu Weck & Day 2

Fluency Problem Solving

Complete these questions. A school order 12 boxes of paper.
Each box contains 7 reams of paper.

1. 847 — (5 x 12) = 24, 7HEENTEEN  Each ream contains 110 sheets of

paper. How many sheets of paper
2.| 152 032|= 4751 x 32

does the school order in total?
3. 855 + 15 = 57

Reasoning
4 3 _5_.10
iy E +€ = 6 ﬂr‘_lz Reveal answer

5. 405 — 50.38 = 354.6TTT . A I

6. 7 + 83 = 132 melunswar

Which is the odd one out?



